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({… §3.7)

q‚ñ2� N _jÖ, w2 r _Ñ�øé (à, �H),
”-í (N − r) _Ñ�ùé (à, .H), àÇFý. J

õðÑâ N _jÖ2, Óœ²| n _. I

Y = ²|í�øé (C�H) jÖí_b

† Y íª?MÑ 0, 1, 2, . . . , min(r, n), /

P (Y = y) = (²| y _�øéíj¶b) ·
(²| (n − y) _�ùéíj¶b)/

(²| n _jÖí,j¶b)

=

(
r
y

) (
N−r
n−y

)
(

N
n

)
w2 y = 0, 1, 2, . . . , min(r, n) / n− y ≤ N − r.
1˚Óœ‰b Y ���Sœ0}Ó (hypergeometric
probability distribution). £�ì2à-:

ì2 1. Y ∼ hypergeometric(N, r, n) J/ÑJ

p(y) = P (Y = y)

=

(
r
y

) (
N−r
n−y

)
(

N
n

)
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w2 y = 0, 1, 2, . . . , min(r, n) / n− y ≤ N − r.

ìÜ 3.10. q Y ∼ hypergeometric(N, r, n).
†

µ = E(Y ) = n

(
r

N

)
/

σ2 = Var(Y ) = n

(
r

N

) (
1 −

r

N

) (
N − n

N − 1

)

<„> (I) �üı��qí„¶.

Å 1. I

p =
r

N
/ q = 1 − p = 1 −

r

N

†

E(Y ) = np

/

Var(Y ) = npq

(
N − n

N − 1

)
Dùá}Óí‚�M¸‰æbóN, 1˚Ää

N − n

N − 1
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Ñø|c (adjustment) Ää (¥u_çí, ç n ó

úk N u×ív`). ÇÕ, ç n 	ìv, J N → ∞
(?¹, ×‚ñ, üš…), †

N − n

N − 1
→ 1

ypéËéý|¤�óN.

W 1. qø™ 20 _ß¹2, � 4 _¡j¹. Óœ²¦

5 _�Œ, J��¬ø_;í, †¢Œ. ½¢Œíœ0Ñ

S? Ç°×üÑ 5 íš…2, ¡jß¹bí‚�MD‰

æb.

<j> I Y = �Œ|í¡jb. †

Y ∼ hypergeometric(20,4,5)

¢

P (¢Œ) = 1 − P (Y ≤ 1)

= 1 − P (Y = 0) − P (Y = 1)

= 1 −

(
4
0

) (
16
5

)
(
20
5

) −

(
4
1

) (
16
4

)
(
20
5

)
= 1 − 0.2817 − 0.4696

= 0.2487
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/‚�M

E(Y ) = 5
(

4

20

)
= 1

‰æb

Var(Y ) = 5
(

4

20

) (
1 −

4

20

) (
20 − 5

20 − 1

)
=

16

20
·
15

19

=
48

76
= 0.632

Å 2. ç N → ∞ / n, r
N

def
= p Ñ	ìv (?¹, ×

‚ñ, üš…), ‡ú©ø	ìí y,

lim
N→∞

(
r
y

) (
N−r
n−y

)
(

N
n

) =

(
n

y

)
py(1 − p)n−y

?¹, hypergeometric(N, r, n) í pmf í”Ì�ß

�k b(n, p) í pmf, ¤4* pmf íi�¥ø|��

Sœ0}ÓDùáœ0}ÓíóN4.

<„> AW©èà-í„p. %â�Çùá[b, “�,

°”Ì (Ê y, n 	ì/ r
N = p 6	ì-) í¬˙ª„
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). íl, �Çùá[b, )(
r
y

) (
N−r
n−y

)
(

N
n

)
=

n!

y!(n − y)!

[
r(r − 1) · · · (r − y + 1)

N(N − 1) · · · (N − y + 1)

]
·[

(N − r)(N − r − 1) · · ·
(N − y)(N − y − 1) · · ·

(N − r − (n − y − 1))

(N − y − (n − y − 1))

]
QO“�, )

,�

=

(
n

y

) (
r

N

)  r

N

 1 − 1
r

1 − 1
N

  r

N

 1 − 2
r

1 − 2
N

 · · · r

N

1 − y−1
r

1 − y−1
N

 ·
[
1 −

r − y

N − y

]
·[

1 −
r − y

N − y − 1

]
· · ·[

1 −
r − y

N − y − (n − y − 1)

]
(1)

Ê r
N = p 	ì, y 	ì, J£ N, r → ∞ -, â(

r

N

)
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ÇáB  r

N

1 − y−1
r

1 − y−1
N


í y áÌY¹ƒ

r

N
(1) = p

7/â [
1 −

r − y

N − y

]
ƒ [

1 −
r − y

N − y − (n − y − 1)

]
í (n − y) áÌª}�[ýA[

1 −
r

N

(
1 − y

r

1 − y
N

)]
J£ 1 −

r

N

 1 − y
r

1 − y+(n−y−1)
N


7/Ê n 6	ì-, ÌY¹ƒ

1 −
r

N
(1) = 1 − p
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|(, ø,H°)í”Ì¯9 (ó
) 1;W (1) �, )(
r
y

) (
N−r
n−y

)
(

N
n

) →
(

n

y

)
py(1 − p)n−y
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